. How many packets of flour each weighing 450g can

5. A boy was climbing

i 1 1
an
A "
T p—
o o —_—

Problems

g machine costs €450, A dishwasher costs
amount, How much must | pay for ——

machine and a disl‘:x-;-:lsr:ﬁr?éﬁ"f'j‘
-

nalf th
d washi

. There were 238 boys at the circls:

There are 90 more girls than boys al the circus
How many children attended the circus altogether?

3. How many nours and minutes between

T:35 | and (202 B hours L5 minutes
be filled from o 2_];k:;- sack of flour? 5 -
wall 9m high

When he had climbed 5/m, he slipped back 1725¢m,
Hew far was he from the top of the wall then!

==

505 .




Week 25 Test

12 Shade 004 of this :.'r‘-gF_-L- red

Sl
TP #:
{ I B =
3 = { I
SR Sy
T <.' LMo Er
15. =3
= W is L oduc
4 5and -2 I
" L 1 CENLS [ERXD :'.- of 20 multiplied |_|!,: ;l
= ' . of 30 = |
0. Which 2D < =
i e e 19. Draow eHcnicithe
oes \:“.:- 7 T of Lhi
T A
Circle the number nearer to 4,050 o |
i . 20. Write'3 Units, ] tenth and i -
= 4 hundredihs in decimal form % ® | - ';i.-
.
s
Problems
i, b
N y L f :

21. Darren, Rob and Mark went to the funfair, 'E“'*“T_}fi e St
Darren hod €2-55 to spend. Rob had 3 times as much os Darran, = ~ ‘-; e
Mark had €1-50 mare than Darren. e B

e ; o
How much had the three friends altogether? £ [&- 25 € 3 ' 65
| e Mirie: €2 55
12. How much is B less than g of 81¢ i ; : e
i :‘- | =8

'3. An egq producer can fit 6 eggs in a cartan. He hos 134 eggs- el - o5

How many more eqgs does he need to fill 23 cartons?: [y
e 2.8

2} A boy had €1876. He spent 7 of it in-ane shop and > L1336

£3.38 in another. How much money had he lef? €10 64 o4 694 .
3 A woman worked these times on three different days: 5:8'%
5 hours, b2 hours and 5 hours 35 minutes. E8-0F

Uow many hours and minutes did she work aoltogether?. 13 hrs
el S mins - A0mund




